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Useful Guidelines:

* The slope-intercept form of the equation of a line with slope m and y-interceptb: y=mx+b
1 * The pomt-slope form of the equation of a hne with slope m passing through the pomt (xl, y1 7{0@“ P,

Y=y =mx-x) -
* The general form or standard form of the equation of a line with slope m and y-intercept b: ax + by = c

| Average rage of change of /{x) with respect to x over the interval from x=ato x=b: M

b-a
* The difference quotient: 2 (x+ h]Z —f() |
1. Find the equation in slope-intercept form of the line satisfying the given conditions.
a) slope 4; y-intercept (0,9) : b) slope —271—; y-intercept (0,-2)
Y = u¥ +q | V= :L -Q
2. Using the point-slope form to find an equation of the line that satisfies the given condltlons e
Write the equation in slope-intercept form and in standard form. s\i
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3. a) Write an equat1d£1 in sta%dard form where the llne goes through the pomt 532 4); and 18 honzontal
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b) Write an equation in standard form of the line passing through the points (3, 2) and (3,2 vertkcea ()
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4. Compute the 6 ate of changeNor )‘.be fung\on y=x,between x=-3 andx=2.
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b) Find the difference quotient for the function f () =x*+2 and simplify it.
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